JE AR AL 300263 IR AR IR 2022 - 056
E AR, 123120 HH M. BARR

R EE (B BRBERAR
RKTBERBRERIME AN AS

ANE REFERERRARILGE EHEN B RS, HfwE, AERL
H. RPERLIERER.

FrARTN

1. A0, 123120  fiidefaifR. BEEEL

2. BRI NS 7.73 o/

3. WEJEEIMAE: 7.75 T/

4, FERAINFSREA G HI: 202248 A2 H

—. “BiREAG” BEERER

SR EIEE MBS R RS “UERVER (2021) 1474 57 SCHE, FEHERIEEE
A GEBHD B ARAE (LRI “Aa") T 2021 4 7 A 30 HRIAREERN R K
1T 1 798.9283 Jiik Al ¥ N\l 5%, BEIKIH{E 100 76, KAT A 79,892.83 JiTTt. &
WRIREHRAZ ST (LR R “IRZFT”) FE, AF 79,892.83 JJt ] #7535
2T 2021 4 8 H 23 HERERKZHEMA S, GiFRR “BEEER”, HFHR
“1231207.

T, “BRAREAR” B R VR AE S 2

R (AR R] GEFHD Bt A BR 2 7 AN 8 6 B R AT 7] 3 8 T 5 357 5+
GNP ETTZEE WY (BURRERR “CEEWEY7) v “RERAN R 1R 71
Kt B AR KRB E -

HERRKATZ Ja, HAFIRAEIRELNG . FIEBA . R H R CRFERA R
TR AT G 3 N B G B 3 I A B AS ) o i DL S IR S B 4 B R 2 s o, A 2 ] i
P RAEAZAES, K% T A ST HE AN M R (PR /NBOS R WL, BJa—1

1



PO FHN):

VRIE LI B AR A : P1=P0 = (1+n);

R ECEC I . P1=(PO+A X k) =+ (1+k);

IR PHIR EI HEAT: P1=(PO+A X k)= (1+n+k);

IRIEIL G F]: P1=P0O-D;

iR =T EE 4T P1=(PO - D+AX k) =+ (1+n+k).

Hrdr: Pl ARG ANY ;s PO NIRRT IZAT n NURIELL I BAE G IR AR A
IR TR B A s k AR T B BRBC AR s D AR BGRIE I 4 IR

20N ) B B AN B AR A A AR A AR LR, B AR G AT R IR RS, S
fErp ENE I & f8 e ) B A wlE B SR PSRN IR A, TS
R I A TR BE H L RS RE S AR (AN D). HE R H A
RRAT I 3 A a) s A NG Hel 2 J5 . B B H 2/, WZHF
B NS I H S T A F) R G R AN RS AT

N E AR R A AT I . & FF 3 S EAT AR HARAE T AR A =] I 28] . B
J BB IR 25 R A A AR AT RT B8 52 ) A OB AT I AT B 0 8 w5 SR REE N IR RUR 2
B AT AR R, A FPEB A AR IE IR AT AR A SRE R LK 7R R
AR AT W AT #4585 55 e 8 N AR ) Jt DU) O 3 AN A o 8 SR T AN A TR R I
B SARNE TME B i B [ XA VBRI AUl 5 W 5 1T AR A S R g R il 1T

N

=, “RREREG BRI ARRERERER
1. BB AR

AFSHT 202247 H 8 H. 2022 4F 7 A 26 HAH B mEFSHE TR W
2022 FF5E —IRIM I AR K2, B BGEE 1 (O T 5E [ W i A7 FH ok v E 4 4
IR B A BRI ZE D), TR ¥ ml W HIAIE 7K 7 v (9 10,000,041 it LLVESRY, 4
UEM e S, 2~ F B BASREZ> 10,000,041 7.

2. BRI R



MRYE (AU AD) HH IS SRR S LR VR4 [ AR 5 00 2 WG R 8 et e it 7
Femetirts, HARPEAGDLUNT .

P1=(PO+A Xk)-+(1+k)
=[7.73+5.8948 X (-1.0938%) 1/[ (1+ (-1.0938%) ]
~7.75 7o/ (PRE BN S 2 £71)

Hrpe PLONRBJERAT, PO NIREEATH LT, A NINBCT S IR 4%, K
9 B TETEAH AT o 2 A L o

v b, “RRABEER” RN RIS R 7.73 TO/ IR K 7.75 J0/ 0, R S
s H 2022 48 A 2 Hit AR

Fritb A e

FEHERIER R BB B AR AT
HHER

—O==#/)\H—H



